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BES-012 : TEACHING OF MATHEMATICS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal iveightage. 

1. Answer the following question in about 
600 words : 
Discuss when and why we use variables ? 

OR 
State the skills needed to develop creative thinking 
in mathematics. 

2. Answer the following question in about 
600 words : 
How does constructivist approach of teaching help 
children in understanding the difference between 
2D and 3D shapes ? 

OR 
Explain mean, median and mode with examples. 

3. Answer any four of the following questions in 
about 150 words each : 
(a) Explain any two co-operative learning 

strategies. 
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(b) Describe conceptual knowledge in 
mathematics with an example. 

(c) Explain the steps used in drawing bar 
graph. 

(d) What do you mean by Generalizing ? 
Explain. 

(e) Discuss the implications of Van-hiele's 
thinking in classroom practices. 

(f) What activities will you organise to help 
children understand 'reading maps' ? 

4. 	Answer the following question in about 
600 words : 
What do you understand by 'assessment for 
learning' ? How will it enhance teaching -
learning process in mathematics ? 
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